2 3 4 5 6 7 8
A
50 350
33, -
T —
| =
N
B
N — —
o ™ - H | |
< — / ©
<
7/
I C
| ST = 1
I {
T
nach dem Ausrichten
abbohren und verstiften
D
\ jtl 1 el 3
O
JQ S
02 |,
L (1:25)
X (1:25)
D FINISH:
@ 8 REVISION C 19.02.2018
C | 19.02.2018 - Standardversion (ohne Inklinometer-ohne Verldngerung)
Rev. - MATERIAL: DEBUR AND BREAK SHARP
B | 24.11.2017 - ErdungsanschiuB M8 hinzu (Pos.19-21) EDGES 0,2x45°
A | 10.11.2017 - Platinenhalter hinzu 1.4404 SURFACE FINISH DIN ISO 1302
s
- 7'3/ NAME SIGNATURE DATE UNLESS OTHERWISE SPECIFIED: DWG NO.
E DIMENSIONS ARE IN MILLIMETERS
DRAWN|  Si.Sommer 10.02.2016 TOLERANCE:  DINISO 2768-1mK O ‘| _OOOO ‘| 7_ZS A3
'I O @© { @ ] 6 CHK'D St.Sommer 19.02.2018
IS ‘
APPVD|  A.Gramm 19.02.2018 | §\V = | =¥ VMETEK GmbH | DESCRIPTION:
elngek'ebT ‘k MFG Fritz-StraBmann-StraBe 4 . |
I D-25337 ELMSHORN - -
\)A QA I Germany uSonic-3 Class A - MP
- - NN +49(0)4121-4359-14 .
\ This document and its contents are the property of I
METEK GmbH and must not be copied,prepeodxced or — www.metek.de STO ndOrd (Ohne |n kllnomeTer)
disclosed to any third party without prior written permission. | —88
Contravention will be prosecuted.
1 2 3 4 Refer to protection notice DIN 1SO 16016. WEIGHT:  4,2kg SCALE:1:5 \ SHEET 1 OF 2 Blatt 2 = Stickliste




1 2 3 4
Pos. | Zeichnung-Nr. | Rev. | Stck. Benennung Bemerkung
1 01-000005-ZS 1 Rahmen uSonic-3-Class A - MP
2 01-4003-015-ET C 2 Verteilerdeckel
3 01-4003-020-ET A 2 Abdeckkappe Mittelstange
4 01-000014-ET A 1 Gerateausgang
5 01-000016-ET A 1 Deckel
6 01X000000248 2 O-Ring 38x1,5
7 01X000000344 2 Verschlu3schraube VS-O M20x1,5 Helukabel Art.-Nr. 905948
8 00X000000235 4 Zylinderkopfschraube M3x6 mit niedrigem Kopf
9 00X000000708 1 Sechskantmutter M25x1,5
10 01X000000343 1 O-Ring 60x1
1 00X000000724 1 Zylinderstift 2x10
12 00X000000709 4 Zylinderkopfschraube M4x12
13 01X000000342 2 STAUFF-Schelle 4-26,9-PA
14 01X000000253 1 Geratestecker CA-17S1N8A2S00 Phoenix Art.-Nr. 1619959
15 1 Senkkopfschraube M8x25 DIN7991
16 1 Sechskantmutter M8 DIN934
17 1 Sechskantmutter M8 DIN982
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
D FNer: REVISION C 19.02.2018
C | 19.02.2018 - Standardversion (ohne Inklinometer-ohne Verldngerung)
Rev. - MATERIAL: DEBUR AND BREAK SHARP
B | 24.11.2017 - ErdungsanschluB M8 hinzu (Pos.19-21) 1.4404 EDGES 0,2x45°
A | 10.11.2017 - Platinenhaiter hinzu SURFACE FINISH DIN ISO 1302
NAME SIGNATURE DATE | UNLESS OTHERWISE SPECIFIED: DWG NO.
DIMENSIONS ARE IN MILLIMETERS
DRAWN|  Si.Sommer 10.02.2016 | TOLERANCE: ~ DIN SO 2768-1mk O '| _OOOO '| 7_ZS A4
CHK'D St.Sommer 19.02.2018
APPV'D|  A.Gramm 19.022018 J\V) 0 o= | =¥ METEK GmbH | DESCRIPTION:
Fritz-StraBmann-StraBe 4
MFG B D-25337 ELMSHORN T~_ _
™ BN 257 fo uSonic-3 Class A - MP
e +49(0)4121-4359-14 )
T documert and s ontents e e Rl oy | e WWmetekde Standard (ohne Inklinometer)
disclosed to any third party without prior written permission.
Contravention will be prosecuted.
Refer to protection notice DIN ISO 16016. WEIGHT: 4,2 kg SCALE:1:5 ‘ SHEET2 OF 2 Blatt 2 = StUckliste




	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht4
	Zeichenansicht5
	Detailansicht Z (1 : 2.5)
	Detailansicht X (1 : 2.5)

	Stckl

